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1. Classify the following algebraic expression

as monomials, binomials, trinomials, and

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gUUgw9sAGOrt


polynomial : 

(i) 7x (ii) 5y-7z (iii)  (iv) 

 (v) 5m - 3 (vi) a (vii) 4 (viii) 

Watch Video Solution

3x3 − 5x2 − 11

1 − 8a − 7a2 − 7a3

3y2 − 7y + 5

2. Add : 

9p + 16q, 13p + 2q

Watch Video Solution

https://dl.doubtnut.com/l/_gUUgw9sAGOrt
https://dl.doubtnut.com/l/_pITb8p5kxlG3


3. Add : 

2a + 6b + 8c, 16a + 13c + 18b

Watch Video Solution

4. Add : 

Watch Video Solution

13x2 − 12y2, 6x2 − 8y2

https://dl.doubtnut.com/l/_Js2m2vqowT81
https://dl.doubtnut.com/l/_Fzr78OuKW8CQ


5. Add : 

Watch Video Solution

17a2b2 + 16c, 28c − 28a2b2

6. Add : 

Watch Video Solution

3y210y + 16, 2y − 7

https://dl.doubtnut.com/l/_KmtBBGW8HAYR
https://dl.doubtnut.com/l/_hNMFn7ueyObB


7. Add : 

Watch Video Solution

−3y2 + 10y − 16, 7y2 + 8

8. Subtract the second expression from the

first one. 

(4xy - 9z), (3xy - 16z)

Watch Video Solution

https://dl.doubtnut.com/l/_OXLPoaEJSJn2
https://dl.doubtnut.com/l/_1tTeQC8F55ur


9. Subtract the second expression from the

first one. 

(5x + 4y + 7z), (x + 2y + 3z)

Watch Video Solution

10. Subtract the second expression from the

first one. 

Watch Video Solution

(14x2 + 8xy + 3y2), (26x2 − 8xy − 17y2)

https://dl.doubtnut.com/l/_hryd7bVgntQ5
https://dl.doubtnut.com/l/_yXR3SnQIdqSY
https://dl.doubtnut.com/l/_FDaJcALUx5o9


11. Subtract the second expression from the

first one. 

Watch Video Solution

(6x2 + 7xy + 16y2), (16x2 − 17xy)

12. Subtract the second expression from the

first one. 

(4x + 16z), (19y - 14z + 16x)

Watch Video Solution

https://dl.doubtnut.com/l/_FDaJcALUx5o9
https://dl.doubtnut.com/l/_G0jbNPt7DZ7Z
https://dl.doubtnut.com/l/_xTQ6usIL366J


13. Multiply 4x by 7y

Watch Video Solution

14. Multiply  by 

Watch Video Solution

7x2 8y2

15. Multiplying a binomial by a monomial 

Multiply (3x + 2) by 2x

Watch Video Solution

https://dl.doubtnut.com/l/_xTQ6usIL366J
https://dl.doubtnut.com/l/_rOMpJDDGDr8G
https://dl.doubtnut.com/l/_4zmGSlPw7SrH


16. Multiplying a binomial by a monomial 

Multiply 6z by (5x-7y)

Watch Video Solution

17. Multiplying a binomial by a monomial 

Multiply 

Watch Video Solution

4x + 7y by 3x +2y

https://dl.doubtnut.com/l/_JxYnRytIxbfT
https://dl.doubtnut.com/l/_tIOciWqJvWZn


18. Multiply 

Watch Video Solution

16xy × 18xy

19. Multiply 

Watch Video Solution

23xy2 × 4yz2

https://dl.doubtnut.com/l/_lEJjYw0eB8BT
https://dl.doubtnut.com/l/_U1nqHOizh60d


20. Multiply 

Watch Video Solution

(12a + 17b) × 4c

21. Multiply 

Watch Video Solution

(4x + 5y) × (9x + 7y)

https://dl.doubtnut.com/l/_h1E84mzTvMPh
https://dl.doubtnut.com/l/_snnPvaeim0vW


22. The length of a rectangle is (8x + 5) cm and

its breadth is (5x + 3) cm. Find its area.

Watch Video Solution

23. Solve the following equations : 

x + 7 = 4

Watch Video Solution

https://dl.doubtnut.com/l/_0RTgdJWfJnqr
https://dl.doubtnut.com/l/_N7gFoFJFPqR2


24. Solve the following equations : 

4p = 12

Watch Video Solution

25. Solve the following equations : 

m - 5 = 4

Watch Video Solution

https://dl.doubtnut.com/l/_qRAGEU6udgSq
https://dl.doubtnut.com/l/_6zjwL4pgnZ5y


26. Solve the following equations : 

 = 6

Watch Video Solution

t

3

27. Simplify (3x - 11y) - (17x + 13y) and choose

the right answer.

A. 7x - 12y

B. - 14x - 54y

C. -3(5x + 4y)

https://dl.doubtnut.com/l/_WcDhZf2Jlegx
https://dl.doubtnut.com/l/_9nFAqY4WlfGn


D. -2(7x + 12y)

Answer: D

Watch Video Solution

28. The product of 

(-15x^3yz^2)` is...,

A. 

B. 

C. 

(23x2y3z) and

−345x5y4z3

345x2y3z5

145x3y2z

https://dl.doubtnut.com/l/_9nFAqY4WlfGn
https://dl.doubtnut.com/l/_uNUwhNWKYuVe


D. 

Answer: A

Watch Video Solution

170x3y2z3

29. Solve the following equations : 

4x +  = 

Watch Video Solution

1

2

9

2

https://dl.doubtnut.com/l/_uNUwhNWKYuVe
https://dl.doubtnut.com/l/_csHwv2k38h6w


30. Solve the following equations : 

10 = 2y + 5

Watch Video Solution

31. Solve the following equations : 

5m - 4 = 1

Watch Video Solution

https://dl.doubtnut.com/l/_QESRx0UA8L42
https://dl.doubtnut.com/l/_sKmY2a3KQjcc


32. Solve the following equations : 

6x - 1 = 3x + 8

Watch Video Solution

33. Solve the following equations : 

2(x-4) = 4x + 2

Watch Video Solution

https://dl.doubtnut.com/l/_VZAxXKbb8lRD
https://dl.doubtnut.com/l/_qskHqjx9g1qr


34. Solve the following equations : 

5(x + 1) = 74

Watch Video Solution

35. Rakesh's age is 5 years less than Saina's.

The sum of their ages is 27. How old are they ?

Watch Video Solution

https://dl.doubtnut.com/l/_EZuzyS9aVCRi
https://dl.doubtnut.com/l/_UOTamgMHNFry


36. In a grove, 60 more saplings of Jambul were

planted than those of Ashok if their are

altogether 200 saplings, find the saplings of

Jambul.

Watch Video Solution

37. Shubhangi has twice as many 20-rupee

notes as she has 50 rupee notes. Altogether,

she has `

https://dl.doubtnut.com/l/_nDFl6CoqRZ93
https://dl.doubtnut.com/l/_4OYXBT2MVyze


37. 2700. How many 50-rupee notes does

she have ?

Watch Video Solution

38. Virat made twice as many runs as

Rohit. The total of their scores is 2 less

than a double century. How many runs

did each of them make ?

Watch Video Solution

https://dl.doubtnut.com/l/_gtyyuhC2cdNC
https://dl.doubtnut.com/l/_4OYXBT2MVyze


39. State the coefficient in the term

.

Watch Video Solution

256x2y2

40. The coefficient of m is . What is that

term ?

Watch Video Solution

3

4

https://dl.doubtnut.com/l/_VGsbew34rI7x
https://dl.doubtnut.com/l/_DeRawMcpaYMd


41. Which of the following are like terms ?

, 3xy, , , 7xy.

Watch Video Solution

3x2y2 5x3y3 x2y3y3

42. What is the sum of 3x and 5y ?

Watch Video Solution

43. Which expression should be added to

4m - 7n - to get the expression zero ?

https://dl.doubtnut.com/l/_sKTzD0RgArrx
https://dl.doubtnut.com/l/_K48cAM9XUeca
https://dl.doubtnut.com/l/_2pxiCFfmxGzs


Watch Video Solution

44. Solve the following : 

Watch Video Solution

( − 16) × ( − 5)

45. Solve the following : 

Watch Video Solution

72 ÷ ( − 12)

https://dl.doubtnut.com/l/_2pxiCFfmxGzs
https://dl.doubtnut.com/l/_RCXxGMr8IAAd
https://dl.doubtnut.com/l/_sidNgkiEG9TB
https://dl.doubtnut.com/l/_XfjWE6Ocq8gC


46. Solve the following : 

Watch Video Solution

( − 24) × (2)

47. Solve the following : 

Watch Video Solution

125 ÷ 5

https://dl.doubtnut.com/l/_XfjWE6Ocq8gC
https://dl.doubtnut.com/l/_nBF6CNTcrgBs


48. Solve the following : 

Watch Video Solution

( − 104) ÷ ( − 13)

49. Solve the following : 

25 x (-4)

Watch Video Solution

https://dl.doubtnut.com/l/_yNYpwKq2YTVp
https://dl.doubtnut.com/l/_ISrZBww7zi6Z


50. Find the HCF and LCM by prime

factorization : 

75, 135.

Watch Video Solution

51. Find the HCF and LCM by prime

factorization : 

114, 76.

Watch Video Solution

https://dl.doubtnut.com/l/_uDJW2vgGWVSS
https://dl.doubtnut.com/l/_CUxVdYJkwUPz
https://dl.doubtnut.com/l/_ICibQSp5SYC5


52. Find the HCF and LCM by prime

factorization : 

153, 187.

Watch Video Solution

53. Find the HCF and LCM by prime

factorization : 

32, 24, 48

Watch Video Solution

https://dl.doubtnut.com/l/_ICibQSp5SYC5
https://dl.doubtnut.com/l/_ggHQzGyAWB9Q
https://dl.doubtnut.com/l/_YmKmP2qmeyp5


54. Simplify : 

To simplify find the HCF of the numerator

and the denominator. 

Watch Video Solution

322

391

55. Simplify : 

To simplify find the HCF of the numerator

and the denominator. 

Watch Video Solution

247

209

https://dl.doubtnut.com/l/_YmKmP2qmeyp5
https://dl.doubtnut.com/l/_vEzdWQfEnlFL


56. Simplify : 

To simplify find the HCF of the numerator

and the denominator. 

Watch Video Solution

117

156

57. Find the square root of the following

numbers : 

784

Watch Video Solution

https://dl.doubtnut.com/l/_vEzdWQfEnlFL
https://dl.doubtnut.com/l/_QDG0qgbvBXpR
https://dl.doubtnut.com/l/_28Z4iPRkqs9y


58. Find the square root of the following

numbers : 

225

Watch Video Solution

59. Find the square root of the following

numbers : 

1296

Watch Video Solution

https://dl.doubtnut.com/l/_28Z4iPRkqs9y
https://dl.doubtnut.com/l/_vaNeWhukCcOm
https://dl.doubtnut.com/l/_LEykIUJqhnm5


60. Find the square root of the following

numbers : 

2025

Watch Video Solution

61. Find the square root of the following

numbers : 

256

Watch Video Solution

https://dl.doubtnut.com/l/_LEykIUJqhnm5
https://dl.doubtnut.com/l/_1Fj2i6iXNDYT
https://dl.doubtnut.com/l/_y4D4jeK5KMIu


62. Draw a join bar for the given data

Watch Video Solution

63. Simplify the expressions :

Watch Video Solution

45 ÷ 5 + 20 × 4 − 12

https://dl.doubtnut.com/l/_y4D4jeK5KMIu
https://dl.doubtnut.com/l/_dnq4Av7EXAxe
https://dl.doubtnut.com/l/_YLz9nCpSVNSR
https://dl.doubtnut.com/l/_d4hRL5sUBZtK


64. Simplify the expressions :

Watch Video Solution

(38 − 8) × 2 ÷ 5 + 13

65. Simplify the expressions :

Watch Video Solution

+ ÷
5

3

4

7

32

21

66. Simplify the expressions :

3 × {4[85 + 5 − (15 ÷ 30] + 2}

https://dl.doubtnut.com/l/_d4hRL5sUBZtK
https://dl.doubtnut.com/l/_OwUZ5jtth29e
https://dl.doubtnut.com/l/_xA1ii2GZwzXC


Watch Video Solution

67. Solve : 

Watch Video Solution

+
5

12

7

16

68. Solve : 

 - 

Watch Video Solution

3
2

5
2

1

4

https://dl.doubtnut.com/l/_xA1ii2GZwzXC
https://dl.doubtnut.com/l/_hpz1f8FvmNGr
https://dl.doubtnut.com/l/_OeLQ8ONktNaQ
https://dl.doubtnut.com/l/_cJOJdHdIaZU1


69. Solve : 

Watch Video Solution

×
12

5

−10

3

70. Solve : 

Watch Video Solution

4 ÷
3

8

25

18

https://dl.doubtnut.com/l/_cJOJdHdIaZU1
https://dl.doubtnut.com/l/_D1lIuF0V3RPF


71. Construct  ABC such that  = 

,  =  and l (AB) = 5.9 cm. 


Watch Video Solution

δ m∠A 55∘

m∠B 60∘

https://dl.doubtnut.com/l/_eCdV0Qb1RZhT


72. Construct  XYZ such l (XY) = 3. 7 cm, l

(YZ) = 7. 7 cm l (XY) = 6. 3. 

Watch Video Solution

δ

73. Construct  PQR such that  = 

,  = , l (QR) = 5. 7 cm. 


δ m∠P

80∘ m∠Q 70∘

https://dl.doubtnut.com/l/_xbDNMkoXXgxr
https://dl.doubtnut.com/l/_R64PJ4c6Bb23


We are given l (QR). So we must have

measure of  Q and  R. 

Watch Video Solution

∠ ∠

https://dl.doubtnut.com/l/_R64PJ4c6Bb23


74. Construct  EFG from the given

measures. l (FG) = 5 cm,  =  l

(EG) = 7 cm. 

Watch Video Solution

Δ

m∠EFG 90∘

https://dl.doubtnut.com/l/_jeKo5xBloDzK


75. In  LMN, l (LM) = 6.2 cm.  LMN =

, l (MN) = 4 cm. Construct  LMN. 


Watch Video Solution

Δ m∠

60∘ Δ

76. Find the measures of the

complementary angles of the following

angles : 

h id l i

35∘

https://dl.doubtnut.com/l/_jeKo5xBloDzK
https://dl.doubtnut.com/l/_ZCq8VBrCLiJY
https://dl.doubtnut.com/l/_eTsTUXPP7Xiw


Watch Video Solution

77. Find the measures of the

complementary angles of the following

angles : 

Watch Video Solution

a ∘

78. Find the measures of the

complementary angles of the following

https://dl.doubtnut.com/l/_eTsTUXPP7Xiw
https://dl.doubtnut.com/l/_3RVVUoLyzZhA
https://dl.doubtnut.com/l/_oEJNr6ioF7nD


angles : 

Watch Video Solution

22∘

79. Find the measures of the

complementary angles of the following

angles : 

Watch Video Solution

(40 − x) ∘

https://dl.doubtnut.com/l/_oEJNr6ioF7nD
https://dl.doubtnut.com/l/_tFtpXevspLQH


80. Find the measures of the

supplements of the following angle : 

Watch Video Solution

111∘

81. Find the measures of the supplements

of the following angle : 

Watch Video Solution

47∘

https://dl.doubtnut.com/l/_yOHtd6aLYubF
https://dl.doubtnut.com/l/_k78v2I9fSd8N
https://dl.doubtnut.com/l/_n3pNxsCteiF5


82. Find the measures of the supplements

of the following angle : 

Watch Video Solution

180∘

83. Find the measures of the supplements

of the following angle : 

Watch Video Solution

(90 − x) ∘

https://dl.doubtnut.com/l/_n3pNxsCteiF5
https://dl.doubtnut.com/l/_6g2IIpW3aEvI
https://dl.doubtnut.com/l/_onRpNsO2nnu9


84. Draw the following figures : 

A pair of adjacent angles.

Watch Video Solution

85. Draw the following figures : 

Supplementary angle which are not

adjacent angles.

Watch Video Solution

https://dl.doubtnut.com/l/_onRpNsO2nnu9
https://dl.doubtnut.com/l/_0CFI2Vrx8bst


86. Draw the following figures : 

A pair of adjacent complementary angles.

Watch Video Solution

87. In  PQR, the measure of  and 

are equal. m  PRQ =  Find the

measures of the following angles. 

Δ ∠P ∠Q

∠ 70∘

https://dl.doubtnut.com/l/_NCZnM7hpKjDO
https://dl.doubtnut.com/l/_jnMRyCOoCkoZ


 

Watch Video Solution

∠Q

88. In  PQR, the measure of  and 

are equal. m  PRQ =  Find the

measures of the following angles. 

Δ ∠P ∠Q

∠ 70∘

https://dl.doubtnut.com/l/_jnMRyCOoCkoZ
https://dl.doubtnut.com/l/_Dsl4XiIEPRGd


. 


Watch Video Solution

∠P

89. In  PQR, the measure of  and 

are equal. m  PRQ =  Find the

measures of the following angles. 

Δ ∠P ∠Q

∠ 70∘

https://dl.doubtnut.com/l/_Dsl4XiIEPRGd
https://dl.doubtnut.com/l/_SKl5nTRTjf8N


 

Watch Video Solution

∠Q

90. Simplify : 

Watch Video Solution

54 × 53

https://dl.doubtnut.com/l/_SKl5nTRTjf8N
https://dl.doubtnut.com/l/_hcXFyBrGCuB0
https://dl.doubtnut.com/l/_b44b1P1ZDWvQ


91. Simplify : 

Watch Video Solution

( )
6

÷ ( )
92

3

2

3

92. Simplify : 

Watch Video Solution

( )
8

× ( )
− 6

7

2

7

2

https://dl.doubtnut.com/l/_b44b1P1ZDWvQ
https://dl.doubtnut.com/l/_ignyT06ZiQrY


93. Simplify : 

Watch Video Solution

( )
2

÷ ( )
4

5

5

4

94. Evaluate : 

Watch Video Solution

1716 ÷ 1716

https://dl.doubtnut.com/l/_hY4R6UaRgTwD
https://dl.doubtnut.com/l/_mhoHDcwL69C6


95. Evaluate : 

Watch Video Solution

10− 3

96. Evaluate : 

Watch Video Solution

(23)
2

https://dl.doubtnut.com/l/_dyV7FVcjvXqq
https://dl.doubtnut.com/l/_hm67fglxJfer


97. Evaluate : 

Watch Video Solution

46 × 4− 4

98. Solve : 

(6a - 5b - 8c) + (15b + 2a - 5c)

Watch Video Solution

https://dl.doubtnut.com/l/_oK9Q9bdlAfxy
https://dl.doubtnut.com/l/_VHc74DUQ9x7h


99. Solve : 

(3x + 2y) (7x - 8y)

Watch Video Solution

100. Solve : 

(7m - 5n) - (- 4n - 11m)

Watch Video Solution

https://dl.doubtnut.com/l/_IaUxJJdUUiJh
https://dl.doubtnut.com/l/_BmduEaDA8pzD


101. Solve : 

(11m - 12n + 3p) - (9m + 7n - 8p)

Watch Video Solution

102. Solve the following equations : 

4(x + 12) = 8

Watch Video Solution

https://dl.doubtnut.com/l/_aVz2fv2Pqv6f
https://dl.doubtnut.com/l/_Ma0F6KHRmCvZ


103. Solve the following equations : 

3y + 4 = 5y - 6

Watch Video Solution

104. Multiple choice Questions : 

The three angle bisectors of a triangle

are concurrent. Their point of

concurrence is called the ...

A. circumcentre

B. apex

https://dl.doubtnut.com/l/_b302HpM7csJ2
https://dl.doubtnut.com/l/_N7WPXp8nJz3n


C. incentre

D. point of intersection

Answer: C

Watch Video Solution

105. Multiple choice Questions : 

 = ......

A. `(3/7)^(-7)

B. 

[( )
− 3

]

4
3

7

( )
− 103

7

https://dl.doubtnut.com/l/_N7WPXp8nJz3n
https://dl.doubtnut.com/l/_z2c8lMLEptdn


C. 

D. 

Answer: C

Watch Video Solution

( )
12

7

3

( )
203

2

106. Multiple choice Questions : 

The simplest of  is ......

A. 3

B. 5

5 ÷ ( ) −
3

2

1

3

https://dl.doubtnut.com/l/_z2c8lMLEptdn
https://dl.doubtnut.com/l/_pw8W8bPxX9wQ


C. 0

D. 4

Answer: A

Watch Video Solution

107. Multiple choice Questions : 

The solution of the equation

 is .....

A. 

3x − = + x
1

2

5

2

5

3

https://dl.doubtnut.com/l/_pw8W8bPxX9wQ
https://dl.doubtnut.com/l/_CkdyHmdlKPJO


B. 

C. 4

D. 

Answer: D

Watch Video Solution

7

2

3

2

108. Multiple choice Questions : 

Which of the following expressions has

the value 37 ?

https://dl.doubtnut.com/l/_CkdyHmdlKPJO
https://dl.doubtnut.com/l/_rN6t360p4inf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10 × 3 + (5 + 2)

10 × 4 + (5 − 3)

8 × 4 + 3

(9 × 3) + 2

https://dl.doubtnut.com/l/_rN6t360p4inf

